# Binomial Sums with Skew-Harmonic Numbers 

Robert Frontczak<br>Communicated by Ayman Badawi

MSC 2010 Classifications: Primary 11B37; Secondary 11B39, 11B65.
Keywords and phrases: Harmonic number, Skew-harmonic number, Binomial sum, Fibonacci number.
The author thanks Khristo Boyadzhiev for sharing his opinion about the main theorem in private communication. He also acknowledges comments on the manuscript from Taras Goy.

Disclaimer: Statements and conclusions made in this article are entirely those of the author. They do not necessarily reflect the views of LBBW.


#### Abstract

We derive a new expression for binomial sums with skew-harmonic numbers. Our derivation is based on elementary analysis of the Euler transform of these sums. The main result may be regarded as a companion formula for binomial sums with harmonic numbers that we proved recently. We provide some examples to demonstrate the attractiveness of our approach. In particular, we state some new identities involving skew-harmonic numbers, and Fibonacci and Lucas numbers.


## 1 Motivation

Harmonic numbers $\left(H_{n}\right)_{n \geq 0}$ are defined by $H_{0}=0$ and for all $n \geq 1$

$$
H_{n}=\sum_{k=1}^{n} \frac{1}{k}
$$

In contrast, alternating or skew-harmonic numbers $([2,3,16])\left(H_{n}^{-}\right)_{n \geq 0}$ are given by $H_{0}^{-}=0$ and for all $n \geq 1$

$$
H_{n}^{-}=\sum_{k=1}^{n}(-1)^{k+1} \frac{1}{k}
$$

Skew-harmonic numbers are partial sums of the expansion of $\ln (2)$ :

$$
\ln (2)=\sum_{k=1}^{\infty}(-1)^{k+1} \frac{1}{k}
$$

which itself is the special case $x=1$ of the Newton-Mercator series

$$
\ln (1+x)=\sum_{k=1}^{\infty}(-1)^{k+1} \frac{x^{k}}{k}, \quad-1<x \leq 1
$$

There is also a relation between skew-harmonic numbers and the digamma function $\psi(x)=$ $\frac{d}{d x} \ln \Gamma(x)($ see $[2]):$

$$
\psi\left(\frac{n+1}{2}\right)-\psi\left(\frac{n}{2}\right)=2(-1)^{n-1}\left(\ln (2)-H_{n-1}^{-}\right)
$$

Harmonic numbers and generalized harmonic numbers are interesting research objects. They have been studied by Euler and many other mathematicians. A historical account is given in the first part of the article [16]. They appear in many beautiful combinatorial identities. The very recent research on the topic has produced a considerable amount of new results concerning finite and infinite series with (generalized) harmonic numbers (see [1], [4]-[10] and [13]-[20]). Some
identities for the skew-harmonic numbers are listed in [2] and [3], among others.
In 2009, Boyadzhiev [1] studied binomial sums with harmonic numbers using the Euler transform. He proved the following identity valid for $n \geq 1$

$$
\begin{equation*}
\sum_{k=1}^{n}\binom{n}{k} a^{k} b^{n-k} H_{k}=(a+b)^{n} H_{n}-\left(b(a+b)^{n-1}+\frac{b^{2}}{2}(a+b)^{n-2}+\cdots+\frac{b^{n}}{n}\right) \tag{1.1}
\end{equation*}
$$

where $a$ and $b$ are arbitrary complex numbers. Frontczak [10] modified the arguments of Boyadzhiev slightly and derived an alternative expression for these sums as

$$
\begin{equation*}
\sum_{k=1}^{n}\binom{n}{k} a^{k} b^{n-k} H_{k}=\left((a+b)^{n}-b^{n}\right) H_{n}-a \sum_{k=0}^{n-1}(a+b)^{k} b^{n-1-k} H_{n-1-k} \tag{1.2}
\end{equation*}
$$

The formula (1.2) allows to derive the following identity

$$
\begin{equation*}
H_{n}=\sum_{k=1}^{n}\left(\frac{1}{k} 2^{n-k}-2^{k-1} H_{n-k}\right) \tag{1.3}
\end{equation*}
$$

which can be used as a new defining equation for harmonic numbers.
In this article, we continue the work from [10]. We derive a new expression for binomial sums with skew-harmonic numbers by analyzing the Euler transform of these sums. The main result may be regarded as an analogue formula for the above identity (1.2). We also provide some examples to demonstrate the attractiveness of our approach. In particular, we state some new identities involving skew-harmonic numbers, and Fibonacci and Lucas numbers.

## 2 The Main Result.

Let $A(z)$ be the ordinary generating function for the skew-harmonic numbers. It is known that ([16])

$$
A(z)=\sum_{n=0}^{\infty} H_{n}^{-} z^{n}=\frac{\ln (1+z)}{1-z}
$$

where the series converges for $|z|<1$. For $a, b \in \mathbb{C}$ let further $S_{n}(a, b)$ be defined as

$$
\begin{equation*}
S_{n}(a, b)=\sum_{k=0}^{n}\binom{n}{k} a^{k} b^{n-k} H_{k}^{-} \tag{2.1}
\end{equation*}
$$

Then we have the following theorem.
Theorem 2.1. For all $n \geq 1$ it holds that

$$
\begin{align*}
S_{n}(a, b)= & (a-b)^{n} H_{n}^{-}+b^{n} H_{n}+2 b \sum_{k=0}^{n-1}(a+b)^{k}(a-b)^{n-1-k} H_{n-1-k}^{-} \\
& +a \sum_{k=0}^{n-1}(a+b)^{k} b^{n-1-k} H_{n-1-k} \tag{2.2}
\end{align*}
$$

Proof. Let $S(z)$ be the ordinary generating function for the sum $S_{n}(a, b)$. Then, by Euler's transform

$$
\begin{aligned}
S(z) & =\sum_{n=0}^{\infty} S_{n}(a, b) z^{n} \\
& =\frac{1}{1-b z} A\left(\frac{a z}{1-b z}\right) \\
& =\frac{\ln (1+(a-b) z)}{1-(a+b) z}-\frac{\ln (1-b z)}{1-(a+b) z}
\end{aligned}
$$

Now, we have that

$$
\frac{\ln (1-b z)}{1-(a+b) z}=\frac{a z}{1-(a+b) z} \frac{\ln (1-b z)}{1-b z}+\frac{\ln (1-b z)}{1-b z}
$$

and

$$
\frac{\ln (1+(a-b) z)}{1-(a+b) z}=\frac{\ln (1+(a-b) z)}{1-(a-b) z}+\frac{2 b z}{1-(a+b) z} \frac{\ln (1+(a-b) z)}{1-(a-b) z}
$$

Hence,

$$
\begin{aligned}
S(z)= & \frac{\ln (1+(a-b) z)}{1-(a-b) z}+\frac{2 b z}{1-(a+b) z} \frac{\ln (1+(a-b) z)}{1-(a-b) z} \\
& +\left(-\frac{\ln (1-b z)}{1-b z}\right)+\frac{a z}{1-(a+b) z}\left(-\frac{\ln (1-b z)}{1-b z}\right) \\
= & \sum_{n=0}^{\infty}(a-b)^{n} H_{n}^{-} z^{n}+\sum_{n=0}^{\infty} b^{n} H_{n} z^{n} \\
& +2 b z\left(\sum_{n=0}^{\infty}(a+b)^{n} z^{n}\right)\left(\sum_{n=0}^{\infty}(a-b)^{n} H_{n}^{-} z^{n}\right) \\
& +a z\left(\sum_{n=0}^{\infty}(a+b)^{n} z^{n}\right)\left(\sum_{n=0}^{\infty} b^{n} H_{n} z^{n}\right) .
\end{aligned}
$$

Using Cauchy's product rule for power series and comparing the coefficients of $z^{n}$ completes the proof.

We proceed with some examples. For $(a, b)=(a, a)$ we get the identity

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} H_{k}^{-}=H_{n}+\sum_{k=0}^{n-1} 2^{k} H_{n-1-k} \tag{2.3}
\end{equation*}
$$

Combining ([10])

$$
\sum_{k=0}^{n}\binom{n}{k} H_{k}=\left(2^{n}-1\right) H_{n}-\sum_{k=0}^{n-1} 2^{k} H_{n-1-k}
$$

with ([1])

$$
\sum_{k=0}^{n}\binom{n}{k} H_{k}=2^{n}\left(H_{n}-\sum_{k=1}^{n} \frac{1}{k 2^{k}}\right)
$$

we can easily derive the following identity valid for all $n \geq 1$ :

$$
\begin{equation*}
\sum_{k=1}^{n}\binom{n}{k} H_{k}^{-}=2^{n} \sum_{k=1}^{n} \frac{1}{k 2^{k}} \tag{2.4}
\end{equation*}
$$

Although not appearing in the references, it is most likely that identity (2.4) is known. A charming proof using induction can be given as follows: Since the identity is trivially true for $n=1$,
the inductive step is

$$
\begin{aligned}
\sum_{k=1}^{n+1}\binom{n+1}{k} H_{k}^{-} & =\sum_{k=1}^{n}\binom{n+1}{k} H_{k}^{-}+H_{n+1}^{-} \\
& =\sum_{k=1}^{n}\left(\binom{n}{k}+\binom{n}{k-1}\right) H_{k}^{-}+H_{n+1}^{-} \\
& =\sum_{k=1}^{n}\binom{n}{k} H_{k}^{-}+\sum_{k=0}^{n-1}\binom{n}{k} H_{k+1}^{-}+H_{n+1}^{-} \\
& =\sum_{k=1}^{n}\binom{n}{k} H_{k}^{-}+\sum_{k=0}^{n-1}\binom{n}{k}\left(H_{k}^{-}+(-1)^{k+2} \frac{1}{k+1}\right)+H_{n+1}^{-} \\
& =2 \sum_{k=1}^{n}\binom{n}{k} H_{k}^{-}+\sum_{k=0}^{n}\binom{n}{k}(-1)^{k} \frac{1}{k+1} \\
& =2^{n+1} \sum_{k=1}^{n} \frac{1}{k 2^{k}}+\frac{1}{n+1} \\
& =2^{n+1} \sum_{k=1}^{n+1} \frac{1}{k 2^{k}} .
\end{aligned}
$$

Note that at the end of the proof we have used the relation

$$
\sum_{k=0}^{n}\binom{n}{k}(-1)^{k} \frac{1}{k+1}=\int_{0}^{1}(1-x)^{n} d x
$$

Finally, as an interesting by-product, we point out that

$$
\begin{equation*}
\lim _{n \rightarrow \infty} \frac{1}{2^{n}} \sum_{k=1}^{n}\binom{n}{k} H_{k}^{-}=\lim _{n \rightarrow \infty} \sum_{k=1}^{n} \frac{1}{k 2^{k}}=\ln (2) \tag{2.5}
\end{equation*}
$$

For $(a, b)=(-1,1)$ we deduce that

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k}(-1)^{k} H_{k}^{-}=(-1)^{n} 2^{n}\left(H_{n}^{-}-H_{n-1}^{-}\right)+H_{n}-H_{n-1}=\frac{1}{n}\left(1-2^{n}\right) \tag{2.6}
\end{equation*}
$$

which means that $\frac{1}{n}\left(1-2^{n}\right)$ is the binomial transform of $(-1)^{n} H_{n}^{-}$. The inverse transform gives immediately

$$
\begin{equation*}
\sum_{k=1}^{n}\binom{n}{k}(-1)^{k} \frac{1}{k}\left(1-2^{k}\right)=H_{n}^{-} \tag{2.7}
\end{equation*}
$$

The last two identities are known. They appear as equations (9.20) and (9.21) with a different proof in the textbook [3]. For $(a, b)=(2,1)$ the theorem gives

$$
\sum_{k=0}^{n}\binom{n}{k} 2^{k} H_{k}^{-}=H_{n}^{-}+H_{n}+2 \sum_{k=0}^{n-1} 3^{k}\left(H_{n-1-k}^{-}+H_{n-1-k}\right)
$$

Using the connection $H_{n}^{-}=H_{n}-H_{\left\lfloor\frac{n}{2}\right\rfloor}$ with $\lfloor x\rfloor$ being the floor function at $x$ (see [15] for instance), we obtain

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} 2^{k} H_{k}^{-}=2 H_{n}-H_{\left\lfloor\frac{n}{2}\right\rfloor}+2 \sum_{k=0}^{n-1} 3^{k}\left(2 H_{n-1-k}-H_{\left\lfloor\frac{n-1-k}{2}\right\rfloor}\right) \tag{2.8}
\end{equation*}
$$

Another expression for the sum can be derived using

$$
H_{n}^{-}+H_{n}=2 \sum_{j=0}^{\left\lfloor\frac{n-1}{2}\right\rfloor} \frac{1}{2 j+1}=2 h_{\left\lfloor\frac{n+1}{2}\right\rfloor}
$$

where we have adopted the notation from [16]

$$
\begin{equation*}
h_{n}=\sum_{j=1}^{n} \frac{1}{2 j-1} . \tag{2.9}
\end{equation*}
$$

This allows to express the sum as

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} 2^{k} H_{k}^{-}=2 h_{\left\lfloor\frac{n+1}{2}\right\rfloor}+4 \sum_{k=0}^{n-1} 3^{k} h_{\left\lfloor\frac{n-k}{2}\right\rfloor} \tag{2.10}
\end{equation*}
$$

Our final example is an identity involving hyperbolic functions. With $(a, b)=\left(e^{x}, e^{-x}\right)$ it follows that for all $x \neq 0$ :

$$
\begin{aligned}
\sum_{k=0}^{n}\binom{n}{k} e^{2 k x} H_{k}^{-}= & H_{n}+e^{n x} 2^{n} \sinh ^{n}(x) H_{n}^{-}+\sum_{k=0}^{n-1} 2^{k} \cosh ^{k}(x) e^{(k+2) x} H_{n-1-k} \\
& +e^{(n-1) x} 2^{n} \sinh ^{n-1}(x) \sum_{k=0}^{n-1} \operatorname{coth}^{k}(x) H_{n-1-k}^{-}
\end{aligned}
$$

## 3 Connections with Fibonacci numbers.

From Theorem 2.1 it is also possible to deduce some identities involving skew-harmonic numbers and Fibonacci (Lucas) numbers (see [11] and [12] for more information).

Proposition 3.1. Let $F_{n}$ and $L_{n}$ be the Fibonacci and Lucas numbers, respectively. Then, for all $n \geq 1$, we have the relations

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} F_{k} H_{k}^{-}=(-1)^{n+1} F_{n} H_{n}^{-}+\sum_{k=0}^{n-1}\left(F_{2 k+1} H_{n-1-k}+2 F_{3 k+1-n} H_{n-1-k}^{-}\right) \tag{3.1}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} L_{k} H_{k}^{-}=2 H_{n}+(-1)^{n} L_{n} H_{n}^{-}+\sum_{k=0}^{n-1}\left(L_{2 k+1} H_{n-1-k}+2 L_{3 k+1-n} H_{n-1-k}^{-}\right) \tag{3.2}
\end{equation*}
$$

Proof. Evaluate (2.2) at $(a, b)=(\alpha, 1)$ and $(a, b)=(\beta, 1)$, respectively. This gives

$$
S_{n}(\alpha, 1)=(-1)^{n} \beta^{n} H_{n}^{-}+H_{n}+2 \sum_{k=0}^{n-1} \alpha^{3 k+1-n} H_{n-1-k}^{-}+\sum_{k=0}^{n-1} \alpha^{2 k+1} H_{n-1-k}
$$

and

$$
S_{n}(\beta, 1)=(-1)^{n} \alpha^{n} H_{n}^{-}+H_{n}+2 \sum_{k=0}^{n-1} \beta^{3 k+1-n} H_{n-1-k}^{-}+\sum_{k=0}^{n-1} \beta^{2 k+1} H_{n-1-k}
$$

where we have used the additional relations $\alpha^{2}=\alpha+1$ and $\beta^{2}=\beta+1$. Now, calculate $S_{n}(\alpha, 1) \pm S_{n}(\beta, 1)$ and use the Binet forms for $F_{n}$ and $L_{n}$, respectively.

Comparing the above equations with their harmonic number analogues from [10]

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} F_{k} H_{k}=F_{2 n} H_{n}-\sum_{k=0}^{n-1} F_{2 k+1} H_{n-1-k} \tag{3.3}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} L_{k} H_{k}=\left(L_{2 n}-2\right) H_{n}-\sum_{k=0}^{n-1} L_{2 k+1} H_{n-1-k} \tag{3.4}
\end{equation*}
$$

then, with $h_{n}$ being defined in (2.9), we can obtain

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} F_{k} h_{\left\lfloor\frac{k+1}{2}\right\rfloor}=\frac{1}{2}\left(F_{2 n} H_{n}-(-1)^{n} F_{n} H_{n}^{-}\right)+\sum_{k=0}^{n-1} F_{3 k+1-n} H_{n-1-k}^{-} \tag{3.5}
\end{equation*}
$$

as well as

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} L_{k} h_{\left\lfloor\frac{k+1}{2}\right\rfloor}=\frac{1}{2}\left(L_{2 n} H_{n}+(-1)^{n} L_{n} H_{n}^{-}\right)+\sum_{k=0}^{n-1} L_{3 k+1-n} H_{n-1-k}^{-} \tag{3.6}
\end{equation*}
$$

Proposition 3.2. For all $n \geq 1$, the following relations hold:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k}(-1)^{n-k} F_{k} H_{k}^{-}=F_{2 n} H_{n}^{-}-2 F_{2 n-2} H_{n-1}^{-}-(-1)^{n} H_{n-1} \\
& \quad-2 \sum_{k=1}^{n-1} F_{2 n-2-3 k} H_{n-1-k}^{-}-(-1)^{n} \sum_{k=1}^{n-1} F_{k-1} H_{n-1-k} \tag{3.7}
\end{align*}
$$

and

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k}(-1)^{n-k} L_{k} H_{k}^{-}=L_{2 n} H_{n}^{-}+2(-1)^{n} H_{n}-2 L_{2 n-2} H_{n-1}^{-}-(-1)^{n} H_{n-1} \\
& \quad-2 \sum_{k=1}^{n-1} L_{2 n-2-3 k} H_{n-1-k}^{-}+(-1)^{n} \sum_{k=1}^{n-1} L_{k-1} H_{n-1-k} \tag{3.8}
\end{align*}
$$

Proof. Evaluate (2.2) at $(a, b)=(\alpha,-1)$ and $(a, b)=(\beta,-1)$, respectively. Combine the results as in the previous proof.

Binomial sums with even indexed Fibonacci (Lucas) numbers can be expressed as follows:
Proposition 3.3. For all $n \geq 1$, the following expressions are valid:

$$
\begin{align*}
\sum_{k=0}^{n}\binom{n}{k} F_{2 k} H_{k}^{-}= & F_{n} H_{n}^{-}+\sum_{k=0}^{\left\lfloor\frac{n-1}{2}\right\rfloor} 5^{k}\left(2 F_{n-1} H_{n-1-2 k}^{-}+F_{2 k+2} H_{n-1-2 k}\right) \\
& +\sum_{k=0}^{\left\lfloor\frac{n-2}{2}\right\rfloor} 5^{k}\left(2 L_{n-1} H_{n-2-2 k}^{-}+L_{2 k+3} H_{n-2-2 k}\right) \tag{3.9}
\end{align*}
$$

and

$$
\begin{align*}
\sum_{k=0}^{n}\binom{n}{k} L_{2 k} H_{k}^{-}= & L_{n} H_{n}^{-}+2 H_{n}+\sum_{k=0}^{\left\lfloor\frac{n-1}{2}\right\rfloor} 5^{k}\left(2 L_{n-1} H_{n-1-2 k}^{-}+L_{2 k+2} H_{n-1-2 k}\right) \\
& +\sum_{k=0}^{\left\lfloor\frac{n-2}{2}\right\rfloor} 5^{k+1}\left(2 F_{n-1} H_{n-2-2 k}^{-}+F_{2 k+3} H_{n-2-2 k}\right) \tag{3.10}
\end{align*}
$$

Proof. Evaluating (2.2) at $(a, b)=\left(\alpha^{2}, 1\right)$ yields

$$
\begin{aligned}
\sum_{k=0}^{n}\binom{n}{k} \alpha^{2 k} H_{k}^{-}= & \alpha^{n} H_{n}^{-}+H_{n}+2 \alpha^{n-1} \sum_{k=0}^{n-1} 5^{k / 2} H_{n-1-k}^{-} \\
& +\sum_{k=0}^{n-1} 5^{k / 2} \alpha^{k+2} H_{n-1-k}
\end{aligned}
$$

where we have used that $a-b=\alpha$ and $a+b=\sqrt{5} \alpha$. Similarly, with $(a, b)=\left(\beta^{2}, 1\right)$,

$$
\begin{aligned}
\sum_{k=0}^{n}\binom{n}{k} \beta^{2 k} H_{k}^{-}= & \beta^{n} H_{n}^{-}+H_{n}+2 \beta^{n-1} \sum_{k=0}^{n-1}(-1)^{k} 5^{k / 2} H_{n-1-k}^{-} \\
& +\sum_{k=0}^{n-1}(-1)^{k} 5^{k / 2} \beta^{k+2} H_{n-1-k}
\end{aligned}
$$

Now, we can combine the two sums according to the Binet forms and

$$
\alpha^{k+2}-(-1)^{k} \beta^{k+2}= \begin{cases}\sqrt{5} F_{k+2}, & k \text { even } \\ L_{k+2} & k \text { odd }\end{cases}
$$

It is possible to state more identities of this kind. We have found similar expressions for the sums

$$
\begin{array}{ll}
\sum_{k=0}^{n}\binom{n}{k}(-1)^{n-k} F_{2 k} H_{k}^{-}, & \sum_{k=0}^{n}\binom{n}{k}(-1)^{n-k} L_{2 k} H_{k}^{-} \\
\sum_{k=0}^{n}\binom{n}{k}(-1)^{k} F_{2 n-3 k} H_{k}^{-}, & \sum_{k=0}^{n}\binom{n}{k}(-1)^{k} L_{2 n-3 k} H_{k}^{-},
\end{array}
$$

and others. All of them are left for a personal study. Connections of skew-harmonic numbers to other important number sequences, such as Mersenne or Pell numbers, are also easily deducible from Theorem 2.1.

## References

[1] K. N. Boyadzhiev, Harmonic number identities via Euler's transform, J. Integer Seq. 12, Article 09.6.1. (2009).
[2] K. N. Boyadzhiev, Power series with skew-harmonic numbers, dilogarithms, and double integrals, Tatra Mt. Math. Publ. 56, 93-108 (2013).
[3] K. N. Boyadzhiev, Notes on the Binomial Transform, World Scientific (2018).
[4] J. Choi, Certain summation formulas involving harmonic numbers and generalized harmonic numbers, Appl. Math. Comput. 218, 734-740 (2011).
[5] J. Choi, Finite summation formulas involving binomial coefficients, harmonic numbers and generalized harmonic numbers, J. Ineq. Appl. 2013:49, 11 pp. (2013).
[6] J. Choi and H. M. Srivastava, Some summation formulas involving harmonic numbers and generalized harmonic numbers, Math. Comp. Mod. 54, 2220-2234 (2011).
[7] W. Chu, Harmonic number identities and Hermite-Padé approximations to the logarithm function, J. Approx. Theory 137, 42-56 (2005).
[8] W. Chu, Partial-fraction decompositions and harmonic number identities, J. Combin. Math. Combin. Comput. 60, 139-153 (2007).
[9] W. Chu and A. M. Fu, Dougall-Dixon formula and harmonic number identities, Ramanujan J. 18, 11-31 (2009).
[10] R. Frontczak, Harmonic sums via Euler's transform: Complementing the Approach of Boyadzhiev, J. Integer Seq. 23, Article 20.3.2. (2020).
[11] T. Koshy, Fibonacci and Lucas Numbers with Applications, Volume I, Second Edition, Wiley (2018).
[12] T. Koshy, Fibonacci and Lucas Numbers with Applications, Volume II, Wiley (2019).
[13] A. Sofo, Integral forms of sums associated with harmonic numbers, Appl. Math. Comput. 207, 365-372 (2009).
[14] A. Sofo, New families of alternating harmonic number sums, Tbilisi Math. J. 8, 195-209 (2015).
[15] A. Sofo, Quadratic alternating harmonic number sums, J. Number Theory 154, 144-159 (2015).
[16] A. Sofo and A. S. Nimbran, Euler sums and integral connections, Mathematics 7, 24 pp. (2019).
[17] A. Sofo and H. M. Srivastava, Identities for the harmonic numbers and binomial coefficients, Ramanujan J. 25, 93-113 (2011).
[18] W. Wang, Riordan arrays and harmonic number identities, Comp. Math. Appl. 60, 1494-1509 (2010).
[19] W. Wang and C. Jia, Harmonic number identities via the Newton-Andrews method, Ramanujan J. 35, 263-285 (2014).
[20] C. Wei, D. Gong and Q.Wang, Chu-Vandermonde convolution and harmonic number identities, Integral Transforms Spec. Funct. 24, 324-330 (2013).

## Author information

Robert Frontczak, Landesbank Baden-Württemberg (LBBW), Am Hauptbahnhof 2, 70173 Stuttgart, Germany. E-mail: robert.frontczak@lbbw.de

Received: May 3, 2020.
Accepted: November 16, 2020.

